## **Machine Aquatics (PV -MACH)**

## **Meet Entry Fees Report**

## **32st Annual Harvest Moon Invitational (10/04/2025 -10/05/2025)**

Athlete	ΙE	Fee	Relay	Fee	Total
Abney, Jack (11)	3	\$36.00	-		\$46.00
Adams, Ashleigh (10)	3	\$36.00	-		\$46.00
Adams, Chloe (9)	3	\$36.00	-		\$46.00
Adams, Daniella (12)	3	\$36.00	-		\$46.00
Ahdi, Benjamin (9)	3	\$36.00	-		\$46.00
Alalasundaram, Mila (10)	3	\$36.00	-		\$46.00
Alexandrova-Bailey, Maria (12)	6	\$72.00	-		\$82.00
Alexandrova-Bailey, Sophia (12)	6	\$72.00	-		\$82.00
Allard, Arden (10)	6	\$72.00	-		\$82.00
Amodio, Gia (10)	6	\$72.00	-		\$82.00
Ashworth, Hunter (9)	6	\$72.00	-		\$82.00
Asselin, Teagan (10)	3	\$36.00	-		\$46.00
Avery, Henry (10)	3	\$36.00	-		\$46.00
Bagley, Thomas (10)	3	\$36.00	-		\$46.00
Bailey, Declan (12)	3	\$32.00	-		\$42.00
Barakat, Seleem (12)	6	\$72.00	-		\$82.00
Barbee, Anna (9)	3	\$36.00	-		\$46.00
Baruffi, Isabella (10)	6	\$72.00	-		\$82.00
Basu, Annika (11)	3	\$36.00	-		\$46.00
Bathula, Krisha (11)	3	\$36.00	-		\$46.00
Batra, Bhavika (10)	2	\$24.00	-		\$34.00
Bayne, Connor (10)	4	\$48.00	-		\$58.00
Bayne, Paisley (12)	6	\$72.00	-		\$82.00
Beichner, Everett (9)	6	\$72.00	-		\$82.00
Bernard, Alexandra (12)	6	\$72.00	-		\$82.00
Bhatt, Aanya (11)	5	\$60.00	-		\$70.00
Blackmore, Anima (12)	4	\$48.00	-		\$58.00
Bland, Alice (11)	6	\$72.00	-		\$82.00
Blayney, Kyla (10)	6	\$72.00	-		\$82.00
Borlinghaus, Mia (11)	3	\$36.00	-		\$46.00
Branham, Maeve (12)	6	\$72.00	-		\$82.00
Bravery, Samantha (12)	6	\$72.00	-		\$82.00
Brown, Max (11)	6	\$72.00	-		\$82.00
Bui, James (11)	6	\$72.00	-		\$82.00
Bulbul, Arda (10)	2	\$24.00	-		\$34.00
Buonforte, Lilia (9)	6	\$72.00	-		\$82.00
Candela, Beckett (10)	2	\$24.00	-		\$34.00
Carroll, Thomas (10)	2	\$24.00	-		\$34.00
Charpenntier, Alma (11)	3	\$36.00	-		\$46.00
Chartrand, Theodore (9)	6	\$72.00	-		\$82.00
Chewning, Charlotte (10)	3	\$36.00	-		\$46.00
Choi, Kylie (12)	3	\$36.00	-		\$46.00
Chong, Caitlyn (11)	4	\$48.00	-		\$58.00
Clayton, Jacob (9)	3	\$36.00	-		\$46.00
Cleary, Jack (9)	3	\$36.00			\$46.00
Coleman-Vieyra, Madelyn (11)	6	\$72.00			\$82.00
Colgate, Samuel (11)	6	\$72.00			\$82.00
Collins, Libby (12)	3	\$36.00			\$46.00
Contreras, Luciana (12)	5	\$60.00	-		\$70.00
·					

Athlete	I	Ε	Fee	Relay	Fee	Total
Daniels, Sophia (11)		6	\$72.00	-		\$82.00
Das, Rayan (9)		2	\$24.00	-		\$34.00
Daus, Matthew (9)		3	\$36.00	-		\$46.00
Dawley, Evelyn (10)		3	\$36.00	-		\$46.00
DeLuke, Ethan (11)		6	\$72.00	-		\$82.00
Demer, Pierce (11)		1	\$12.00	-		\$22.00
Detrisac, Ainsley (10)		6	\$72.00	-		\$82.00
Dettman, Nikolai (10)		4	\$48.00	-		\$58.00
Dickerson, Jackson (12)		2	\$24.00	-		\$34.00
Duong, Lily (10)		3	\$36.00	-		\$46.00
Edwards, Henry (12)		6	\$72.00	-		\$82.00
Eley, Gregory (9)		6	\$72.00	_		\$82.00
Eley, Josephine (11)		6	\$72.00	_		\$82.00
Elghoul, Fayrouz (11)		6	\$72.00	_		\$82.00
Erickson, Brody (10)		6	\$72.00	_		\$82.00
Ervin, Zachary (9)		6	\$72.00	_		\$82.00
Falconer, William (10)		2	\$24.00	_		\$34.00
Fallon, Cormac (10)		3	\$36.00	_		\$46.00
Faul, Cameron (10)		3	\$36.00	_		\$46.00
Fehr, Audrey (12)		6	\$72.00	_		\$82.00
Fiala, Caraline (12)		6	\$72.00	_		\$82.00
Filipek, Brayden (11)		2	\$24.00	_		\$34.00
Fiske, Jillian (9)		3	\$36.00	_		\$46.00
Flinn, Caroline (11)		3	\$36.00	_		\$46.00
Fortoul dAvila Melo, Arthur (10)		4	\$48.00	-		\$58.00
Frey, Allison (9)		2	\$24.00	- -		\$34.00
Frey, Madelyn (9)		2	\$24.00	_		\$34.00 \$34.00
Gaffney, Corinne (10)		3	\$36.00	-		\$46.00
Gehrmann, Nikolaus (11)		3 3	\$36.00	-		\$46.00
George, Michael (10)		5 6	\$72.00	-		\$82.00
Gittens, Brycen (10)		2	\$24.00	-		\$34.00
Gonzalez, Emily (12)			\$72.00	-		\$34.00 \$82.00
Green, John (10)		6 1	\$48.00	-		\$52.00 \$58.00
Gwizdala, Anthony (11)		4 3	\$36.00	-		\$46.00
Halfhill, Oliver (10)		2	\$24.00	-		\$34.00
Hancock, Laina (11)		6	\$72.00	-		\$34.00 \$82.00
Hanson, Lucas (11)			\$72.00	-		\$82.00
		6		-		\$82.00
Hartman, Abigail (9)		6	\$72.00	-		
Hartman, Grant (12)		3	\$32.00 \$72.00	-		\$42.00 \$82.00
Hashemi, Artemisia (12)		6		-		
Hashemi, Soraya (11)		6 2	\$72.00	-		\$82.00
Heath, Addison (11)		2	\$24.00	-		\$34.00
Hergenroeder, Anna (11)		3	\$36.00	-		\$46.00
Hodge, Brooke (12)		6	\$72.00	-		\$82.00
Horanski, Aidan (12)		2	\$24.00	-		\$34.00
Howsare, Abigail (9)		6 4	\$72.00	-		\$82.00 \$58.00
Hui, Eddie (10)		4	\$48.00	-		\$58.00 \$34.00
Hurtado, Cristiana (9)		2	\$24.00	-		\$34.00 \$34.00
Jackson, Sydney (10)		2	\$24.00	-		\$34.00
Jarvis, Samantha (10)		6	\$72.00	-		\$82.00
Jeong, Grace (11)		3	\$36.00	-		\$46.00
Jia, Nora (12)		6	\$72.00	-		\$82.00

Athlete	ΙE	Fee	Relay	Fee Total
Jones, Elizabeth (9)	2	\$24.00	-	\$34.00
Jones, Gideon (11)	3	\$36.00	_	\$46.00
Kashchy, Alexis (12)	6	\$72.00	-	\$82.00
Kelly, Owen (12)	6	\$68.00	-	\$78.00
Kennedy, Kevin (12)	3	\$36.00	-	\$46.00
Kennedy, Sean (10)	3	\$36.00	_	\$46.00
Khakpour, Daniel (9)	3	\$36.00	_	\$46.00
Klesh, Avery (9)	6	\$72.00	_	\$82.00
Konakalla, Gautham (12)	2	\$24.00	_	\$34.00
Korolev, Ilya (12)	6	\$68.00	_	\$78.00
Kouhestani, William (11)	3	\$36.00	_	\$46.00
Kroely, Pierre (10)	6	\$72.00	_	\$82.00
Kumar, Reyansh (12)	6	\$68.00	_	\$78.00
Kumar, Suveer (10)	2	\$24.00	_	\$34.00
Kwong, Cadence (9)	6	\$72.00	_	\$82.00
Kwong, Robert (11)	6	\$72.00	_	\$82.00
Lansdowne, Devin (12)	3	\$36.00	_	\$46.00
Lee, Ariel (11)	6	\$72.00	_	\$82.00
Lee, Nathan (12)	6	\$72.00	_	\$82.00
Li, Anya (10)	2	\$24.00	_	\$34.00
Li, Gloria (10)	6	\$72.00	_	\$82.00
Lin, Jacob (11)	6	\$72.00	_	\$82.00
Lin, Logan (12)	2	\$24.00	_	\$34.00
Lippman, Elena (10)	6	\$72.00	_	\$82.00
Lipsey, Emily (11)	6	\$72.00	_	\$82.00
Liu, Gabrielle (11)	3	\$36.00	_	\$46.00
Lose, Fletcher (9)	5	\$60.00	_	\$ <b>70.00</b>
Luongo, Blake (12)	3	\$36.00	- -	\$46.00
Lyden, Conor (11)	6	\$72.00	_	\$82.00
MacInnes, Lillian (10)	2	\$24.00	_	\$34.00
Maddoju, Kriyansh (9)	4	\$48.00	_	\$58.00
Maender, Tyler (12)	6	\$72.00	_	\$82.00
Malik, Aliya (10)	1	\$12.00	_	\$22.00
Malik, Zain (12)	4	\$44.00	_	\$54.00
Mamillapalli, Ruthvika (10)	6	\$72.00	_	\$82.00
Mancoske, Isabella (10)	6	\$72.00	_	\$82.00
Mantravadi, Anagha (12)	3	\$36.00	_	\$46.00
Massey, Zelda (9)	3	\$36.00	_	\$46.00
McBride, Mikayla (12)	3	\$36.00	_	\$46.00
McFadden, William (11)	3	\$36.00	_	\$46.00
McGuire, Declan (11)	3	\$36.00	_	\$46.00
McGuire, Kerrigan (9)	3	\$36.00	_	\$46.00
McLean, Jordan (10)	6	\$72.00	_	\$82.00
McLean, Liam (12)	5	\$56.00	_	\$66.00
McNally, Maren (9)	6	\$72.00	_	\$82.00
Moore, Beauman (12)	6	\$72.00	_	\$82.00
Moore, Ella (10)	3	\$36.00	_	\$46.00
Moore, Madelyn (12)	3	\$36.00	_	\$46.00
Morse, Brecken (11)	6	\$72.00	_	\$82.00
Morstein, Mira (9)	5	\$60.00	_	\$70.00
Nagaraja, Sander (11)	6	\$72.00	_	\$82.00
Nama, Bhuvan (12)	5	\$56.00	_	\$66.00
, 2.10.101 (12)	J	Ψ50.00		ψ00.00

Athlete		Ξ	Fee	Relay	Fee	Total
Nasabzadeh, Ella (11)		,	\$24.00	-		\$34.00
Naslanic, Katharina (9)	2		\$24.00	-		\$34.00
Nenashev, Oleg (12)	۷	<u>.</u>	\$48.00	-		\$58.00
Nesterova, Natalia (9)	$\epsilon$	·	\$72.00	-		\$82.00
Nguyen, Alice (11)	2		\$24.00	-		\$34.00
Nguyen, Hadley (9)	6	)	\$72.00	-		\$82.00
Nguyen, Sloane (12)	$\epsilon$		\$72.00	-		\$82.00
Nguyen, Turner (12)	6	·	\$72.00	-		\$82.00
Nicholas, Bianca (9)	2		\$24.00	-		\$34.00
Olivia, Lang (12)	1		\$12.00	-		\$22.00
Olvesen, Alexander (11)	ć	)	\$72.00	_		\$82.00
Olvesen, Isabella (12)	ć	)	\$72.00	_		\$82.00
Omer, Henry (9)	2		\$24.00	-		\$34.00
Onerci, Poyraz (10)	ć		\$72.00	_		\$82.00
Ossenova-Singh, Aleksandra (10)	2		\$24.00	_		\$34.00
Ossenova-Singh, Sofia (12)	3		\$36.00	_		\$46.00
Padgett, Lucy (9)	3		\$36.00	_		\$46.00
Padgett, Lyla (10)	3		\$36.00	_		\$46.00
Pajak, Annabelle (9)	4		\$60.00	_		\$ <b>70.00</b>
Parker, James (10)	6		\$72.00	_		\$82.00
Pechulis, Charlotte (10)	2		\$24.00	-		\$34.00
Pecoraro, Cash (12)	(		\$68.00	_		\$7 <b>8.</b> 00
Penland, Savannah (11)	3		\$36.00	-		\$46.00
Peoples, Reid (10)			\$72.00	-		\$82.00
	(			-		\$82.00 \$82.00
Petrak, Eliza (11)  Pholog Charles (10)	6		\$72.00	-		\$82.00 \$82.00
Phelps, Charles (10)	6		\$72.00 \$32.00	-		\$42.00
Pitty, Darsh (12)	3			-		\$42.00 \$34.00
Plunkett, Devlyn (11)	2		\$24.00	-		
Posey, Hunter (10)	3		\$36.00	-		\$46.00
Puradupadhye, Aarav (11) Ramirez, Maddox (10)	2		\$24.00	-		\$34.00 \$46.00
	3		\$36.00	-		*
Redfern, Declan (12)	6		\$68.00	-		\$78.00
Redman, Sophia (9)	2		\$24.00	-		\$34.00
Reiley, Andrew (11)	6		\$72.00	-		\$82.00
Reiley, Claire (9)	6		\$72.00	-		\$82.00
Reshetnyak, Arina (11)	6		\$72.00	-		\$82.00
Ristuccia, Paul (10)	3		\$36.00	-		\$46.00
Rivera, Gabriel (11)	4		\$48.00	-		\$58.00
Roberts, Tiberius (11)	3		\$36.00	-		\$46.00
Romano, Emma (11)	6		\$72.00	-		\$82.00
Roth, Abigail (12)	6		\$72.00	-		\$82.00
Roth, Katie (10)	Ć		\$72.00	-		\$82.00
Rushin, Elle (10)	5		\$60.00	-		\$70.00
Salazar, Elizabeth (11)	Ć		\$72.00	-		\$82.00
Sanchez, Harper (9)	2		\$24.00	-		\$34.00
Sandstrom, Frederick (11)	3		\$36.00	-		\$46.00
Sarathy, Miraya (12)	6		\$72.00	-		\$82.00
Scholer, Josephine (12)	2		\$24.00	-		\$34.00
Schoppet, Dylan (11)	3		\$36.00	-		\$46.00
Sedlacek, Christian (10)	6		\$72.00	-		\$82.00
Selwood, Jane (11)	3	1	\$36.00	-		\$46.00
Shaw, Eleanor (10)	6	j	\$72.00	-		\$82.00

Athlete	ΙE	Fee	Relay	Fee	Total
Sherwood, Katherine (9)	2	\$24.00	-		\$34.00
Sherwood, William (12)	2	\$24.00	-		\$34.00
Shimooka, Baxter (10)	3	\$36.00	-		\$46.00
Shively, Norah (9)	2	\$24.00	-		\$34.00
Shrestha, Pralisha (10)	2	\$24.00	-		\$34.00
Sinclair, Maia (12)	2	\$24.00	-		\$34.00
Skochko, Tessa (12)	6	\$72.00	-		\$82.00
Smith, Gabriella (10)	6	\$72.00	-		\$82.00
Sombhatta, Arianna (9)	2	\$24.00	-		\$34.00
Song, Ethan (11)	3	\$36.00	-		\$46.00
Spans, Matthew (12)	6	\$68.00	-		\$78.00
Spencer, Brayden (11)	6	\$72.00	-		\$82.00
Sullivan, Cian (12)	2	\$20.00	-		\$30.00
Sun, Adoren (9)	6	\$72.00	-		\$82.00
Sundberg, Olivia (11)	3	\$36.00	-		\$46.00
Supan, Mila (12)	6	\$72.00	-		\$82.00
Swenson, Zoey (12)	3	\$36.00	-		\$46.00
Ta, Preston (11)	6	\$72.00	-		\$82.00
Tain, Lauren (12)	3	\$36.00	-		\$46.00
Talebian, Benjamin (9)	3	\$36.00	-		\$46.00
Talebian, Sedi (9)	2	\$24.00	-		\$34.00
Teufel, Lucas (9)	2	\$24.00	-		\$34.00
Thayer, Caroline (11)	6	\$72.00	-		\$82.00
Thomas, Naomi (9)	6	\$72.00	-		\$82.00
Trubisz, Kathryn (11)	3	\$36.00	-		\$46.00
Trudel, Archibald (10)	6	\$72.00	-		\$82.00
Upadhye, Medha (11)	6	\$72.00	-		\$82.00
Vasileva, Danica (10)	3	\$36.00	-		\$46.00
Velarde, James (11)	3	\$36.00	-		\$46.00
Vladimiroff, Maximilian (9)	6	\$72.00	-		\$82.00
Wager, Caroline (11)	6	\$72.00	-		\$82.00
Wager, Tyson (10)	6	\$72.00	-		\$82.00
Ward, Gwen (10)	4	\$48.00	-		\$58.00
Wilson, Lily (11)	6	\$72.00	-		\$82.00
Wu, Alexander (12)	6	\$68.00	-		\$78.00
Wu, Wanmin (10)	3	\$36.00	-		\$46.00
Yankoupe, Roger (12)	3	\$36.00	-		\$46.00
Yiengst, William (10)	6	\$72.00	-		\$82.00
Yip-Ward, Spencer (11)	6	\$72.00	-		\$82.00
Zellers, Julia (12)	6	\$72.00	-		\$82.00
Zhang, Elsa (10)	3	\$36.00	-		\$46.00
Zhao, Rex (10)	6	\$72.00	-		\$82.00
Zuroweste, Jackson (9)	3	\$36.00	-		\$46.00

Individual Entries	1047	\$12508.00
Relay Entries	0	\$0.00
Athlete Surcharge	248	\$2480.00
Team Surcharge		\$0.00
Facility Surcharge	248	\$0.00
Team Fees Total		\$14988.00